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  Here are some shapes made of squares. 
 
A fraction of each shape is shaded.

Match each shape to its equivalent fraction.  
 
 One has been done for you.
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Here are three shapes made from regular hexagons.

Write the fraction of each shape that is shaded.
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Here are four labels.

even multiples of 9 not even
not 

multiples of 9

Write each label in the correct position on the sorting diagram below.
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2 Write in the missing numbers.

+ 85 = 200

4 { = 120

120 – 51 =

1

Here is a square.

What fraction of the square is shaded?
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 Shade more triangles on this shape so that 
1
3 is shaded.

 Shade 
1
5 of this shape.10
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This diagram shows a shaded rectangle surrounded by squares.

What fraction of the diagram is shaded?
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Joe goes skating every Saturday.

He went skating on Saturday January 1st.  

Altogether, how many times did Joe go skating in January?
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Total out of 515

The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule

‘to get the next number, add the two previous numbers’

Write in the next two numbers in the sequence.

2.1 2.2 4.3 6.5

17

Here is a rectangle with 13 identical shaded squares
inside it.

What fraction of the rectangle is shaded?
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Total

Circle two numbers which have a difference of 2

–1 – 0.5 0 0.5 1 1.5
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Shade one third of this shape.

Shade one quarter of this shape.
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Tick ( ) the two numbers which have a total of 10

11 The diagram is made of squares.

What fraction of the diagram is shaded?
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 21 Total out of 4

Two whole numbers are each between 50 and 70

They multiply to make 4095

Write in the missing numbers.

 
× = 4095
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The diagram shows three regular octagons joined together.

There is a dot at the centre of each octagon.

What fraction of the diagram is shaded?
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Write what the numbers in the boxes could be.

10 × = – 10 14
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Stefan has a bag that contains 3 blue marbles 
and 5 red marbles only.

What fraction of the marbles in the bag are blue?

15a
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Stefan adds one blue marble and one red marble to the bag.

What fraction of the marbles in the bag are blue now?
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250 000 people visited a theme park in one year.

15% of the people visited in April and 

40% of the people visited in August.

How many people visited the park in the rest of the year?
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This diagram shows four regular hexagons.

Shade in one third of the diagram.
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